

CORE INVERTIBILITY OF TRIANGULAR MATRICES OVER A RING

Sanzhang Xu

Faculty of Mathematics and Physics, Huaiyin Institute of Technology,

Huaian 223003, P. R. China

e-mail: xusanzhang5222@126.com

(Received 13 October 2016; after final revision 11 August 2018;

accepted 14 August 2018)

We obtained several equivalent conditions for the existence of core inverses and dual core inverses of triangular matrices over a ring with involution. As applications, some necessary and sufficient conditions for the (2,2,0) core inverse problem are given.

Key words : Core inverse; dual core inverse; group inverse; ring; triangular matrix.

1. INTRODUCTION

The core inverse and the dual core inverse of a complex matrix were introduced by Baksalary and Trenkler in [1]. Let $A \in M_n(\mathbb{C})$, where $M_n(\mathbb{C})$ denotes the ring of all $n \times n$ complex matrices over the complex field $\mathbb{C}$. A matrix $X \in M_n(\mathbb{C})$ is called a core inverse of A , if it satisfies $AX = P_A$ and $\mathcal{R}(X) \subseteq \mathcal{R}(A)$, where $\mathcal{R}(A)$ denotes the column space of A , P_A is the orthogonal projector onto $\mathcal{R}(A)$. And if such matrix exists, then it is unique and denoted by $A^\oplus$. Baksalary and Trenkler [1] give several characterizations of the core inverse by using the Hartwig and Spindelböck's decomposition in [2]. More properties of the core inverse can be found in [6, 7] etc. Let R be a unital ring with involution, that is a ring with unity 1 and an involution $a \mapsto a^*$ satisfies $(a^*)^* = a$, $(ab)^* = b^*a^*$ and $(a+b)^* = a^* + b^*$ for all $a, b \in R$. We will also use the following notations: $aR = \{ax \mid x \in R\}$ and $Ra = \{xa \mid x \in R\}$. Rakić *et al.* [5] generalized the core inverse of a complex matrix to the case of an element in a ring. Let $a, x \in R$, if

$$axa = a, \quad xR = aR, \quad Rx = Ra^*,$$

then x is called a core inverse of a and if such element x exists, then it is unique and denoted by $a^\oplus$. The set of all core invertible elements in R will be denoted by $R^\oplus$. Let $a, x \in R$, if

$$axa = a, \quad xR = a^*R, \quad Rx = Ra,$$

then x is called a dual core inverse of a and if such element x exists, then it is unique and denoted by $a^\oplus$. The set of all dual core invertible elements in R will be denoted by $R^\oplus$. Rakić *et al.* proved [5, Theorem 2.14] that for $a \in R$, the core inverse of a is the unique element $x \in R$ satisfies the following five equations:

$$axa = a, \quad xax = x, \quad (ax)^* = ax, \quad xa^2 = a, \quad ax^2 = x.$$

In [3, Theorem 1], Hartwig and Shoaf proved that for a matrix $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$, where $a, b, c \in R$ and $R_{2 \times 2}$ denote the ring of 2×2 matrices over a ring R , if $a \in R^\#$, then we have $M^\#$ exists if and only if $c \in R^\#$ and $(1 - aa^\#)b(1 - c^\#c) = 0$. In this paper we give some equivalent characterizations such that $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$ is core invertible. We prove that for a matrix $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$, $M^\oplus$ exists with $M^\oplus \in UT_{2 \times 2}$ if and only if $a, c \in R^\oplus$ and $(1 - aa^\oplus)b = 0$, where $UT_{2 \times 2}$ denotes the ring of upper triangular 2×2 matrices over a ring R . As applications, some necessary and sufficient conditions for the (2,2,0) core inverse problem are given.

An element $a \in R$ (R is not necessary to be a ring with involution) is said to be group invertible if there exists $x \in R$ such that the following equations hold:

$$axa = a, \quad xax = x, \quad ax = xa.$$

The element x satisfies the above equations is called a group inverse of a . If such element x exists, then it is unique and is denoted by $a^\#$. The set of all group invertible elements in R will be denoted by $R^\#$.

An element $b \in R$ is an inner inverse of $a \in R$ if $aba = a$ holds. The set of all inner inverses of a will be denoted by $a\{1\}$. An element $\tilde{a} \in R$ is called a $\{1, 3\}$ -inverse of a if we have $a\tilde{a}a = a$, $(a\tilde{a})^* = a\tilde{a}$. The set of all $\{1, 3\}$ -invertible elements will be denoted by $R^{\{1,3\}}$.

2. CORE INVERSE OF TRIANGULAR MATRICES

In this section, some equivalent conditions of core inverses and dual core inverses of triangular matrices over a ring are obtained.

Lemma 2.1 — [8]. Let $a, x \in R$. Then the following conditions are equivalent:

- (1) $a \in R^\oplus$ with $x = a^\oplus$;

- (2) $a \in R^\# \cap R^{\{1,3\}}$ with $x = a^\#aa^{(1,3)}$;
- (3) $axa = a$, $(ax)^* = ax$, $xa^2 = a$ and $ax^2 = x$;
- (4) $(ax)^* = ax$, $xa^2 = a$ and $ax^2 = x$.

Lemma 2.2 — [3, Theorem 1]. Let $a, b, c \in R$ and $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$. If $a \in R^\#$, then $M^\#$ exists if and only if $c \in R^\#$ and $(1 - aa^\#)b(1 - c^\#c) = 0$. In this case, $M^\# = \begin{bmatrix} a^\# & \alpha \\ 0 & c^\# \end{bmatrix}$, where $\alpha = (a^\#)^2b(1 - c^\#c) + (1 - aa^\#)b(c^\#)^2 - a^\#bc^\#$.

Proposition 2.3 — Let $a, b, c \in R$ and $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$. Then $M^\#$ exists with $M^\# \in UT_{2 \times 2}$ if and only if $a, c \in R^\#$ and $(1 - aa^\#)b(1 - c^\#c) = 0$. In this case, $M^\# = \begin{bmatrix} a^\# & \alpha \\ 0 & c^\# \end{bmatrix}$, where $\alpha = (a^\#)^2b(1 - c^\#c) + (1 - aa^\#)b(c^\#)^2 - a^\#bc^\#$.

PROOF : Suppose $M^\#$ exists with $M^\# \in UT_{2 \times 2}$, then $M^\#$ has the following form

$$M^\# = \begin{bmatrix} x_1 & x_2 \\ 0 & x_3 \end{bmatrix}$$

for some $x_1, x_2, x_3 \in R$.

The equation $MM^\#M = M$ gives

$$\begin{cases} a = ax_1a \\ b = ax_1b + (ax_2 + bx_3)c \\ c = cx_3c \end{cases} \quad (1)$$

The equation $MM^\# = M^\#M$ gives

$$\begin{cases} x_1a = ax_1 \\ x_3c = cx_3 \end{cases} \quad (2)$$

The equation $M^\#MM^\# = M^\#$ gives

$$\begin{cases} x_1ax_1 = x_1 \\ x_3cx_3 = x_3 \end{cases} \quad (3)$$

By (1), (2) and (3), we have $a^\# = x_1$ and $c^\# = x_3$.

Thus, by (1), we have

$$(1 - a^\#a)b = (ax_2 + bc^\#)c$$

which gives

$$(1 - aa^\#)b(1 - c^\#c) = (ax_2 + bc^\#)c(1 - c^\#c) = 0.$$

Conversely, it is clear by Lemma 2.2. □

Lemma 2.4 — Let $a \in R^\oplus$ and $b \in R$. Then the following conditions are equivalent:

- (1) $(1 - aa^\oplus)b = 0$;
- (2) $(1 - a^\oplus a)b = 0$;
- (3) $bR \subseteq aR$.

PROOF : (1) $\Rightarrow$ (2). Suppose $(1 - aa^\oplus)b = 0$, that is $b = aa^\oplus b$, thus $a^\oplus ab = a^\oplus a(aa^\oplus b) = aa^\oplus b = b$. Hence $(1 - a^\oplus a)b = 0$.

(2) $\Rightarrow$ (3). Suppose $(1 - a^\oplus a)b = 0$, that is $b = a^\oplus ab$, then by $a(a^\oplus)^2 = a^\oplus$ we have $b = a^\oplus ab = a(a^\oplus)^2 ab$, hence $bR \subseteq aR$.

(3) $\Rightarrow$ (1). Suppose $bR \subseteq aR$, then $b = ar$, for some $r \in R$. Thus $aa^\oplus b = aa^\oplus ar = ar = b$, that is $(1 - aa^\oplus)b = 0$. □

Theorem 2.5 — Let $a, b, c \in R$ and $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \in R_{2 \times 2}$. Then the following conditions are equivalent:

- (1) $M^\oplus$ exists with $M^\oplus \in UT_{2 \times 2}$;
- (2) $a, c \in R^\oplus$ and $(1 - aa^\oplus)b = 0$;
- (3) $a, c \in R^\oplus$ and $(1 - a^\oplus a)b = 0$;
- (4) $a, c \in R^\oplus$ and $bR \subseteq aR$.

In this case, $M^\oplus = \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix}$.

PROOF : (1) $\Rightarrow$ (2). Suppose $M^\oplus$ exists with $M^\oplus \in UT_{2 \times 2}$, then $M^\oplus$ has the following form

$$M^\oplus = \begin{bmatrix} x_1 & x_2 \\ 0 & x_3 \end{bmatrix}.$$

for some $x_1, x_2, x_3 \in R$.

By Lemma 2.1, we have

$$MM^\oplus M = M, \quad (MM^\oplus)^* = MM^\oplus, \quad M^\oplus M^2 = M, \quad M(M^\oplus)^2 = M^\oplus.$$

The equation $MM^\oplus M = M$ gives

$$\begin{cases} a = ax_1a \\ b = ax_1b + (ax_2 + bx_3)c \\ c = cx_3c \end{cases} \quad (4)$$

The equation $(MM^\oplus)^* = MM^\oplus$ gives

$$\begin{cases} (ax_1)^* = ax_1 \\ ax_2 + bx_3 = 0 \\ (cx_3)^* = cx_3 \end{cases} \quad (5)$$

The equation $M^\oplus M^2 = M$ gives

$$\begin{cases} x_1a^2 = a \\ x_3c^2 = c \end{cases} \quad (6)$$

The equation $M(M^\oplus)^2 = M^\oplus$ gives

$$\begin{cases} a(x_1)^2 = x_1 \\ c(x_3)^2 = x_3 \end{cases} \quad (7)$$

By Lemma 2.1, (5), (6) and (7), we have $a, c \in R^\oplus$ and $a^\oplus = x_1$ and $c^\oplus = x_3$.

By (4) and (5), we have

$$b = ax_1b + (ax_2 + bx_3)c = ax_1b.$$

As $a^\oplus = x_1$, hence $b = aa^\oplus b$, that is $(1 - aa^\oplus)b = 0$.

(2) $\Rightarrow$ (1). Suppose $a, c \in R^\oplus$ and $(1 - aa^\oplus)b = 0$, then we have

$$b = aa^\oplus b. \quad (8)$$

Let $X = \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix}$, then by (8) we have

$$MX = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix} = \begin{bmatrix} aa^\oplus & 0 \\ 0 & cc^\oplus \end{bmatrix},$$

$$MXM = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix} \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} = \begin{bmatrix} aa^\oplus & 0 \\ 0 & cc^\oplus \end{bmatrix} \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} = M.$$

Thus

$$X \in M\{1, 3\}. \quad (9)$$

By [5, Theorem 2.19], we have $a, c \in R^\#$ and $a^\# = (a^\oplus)^2 a$ and $c^\# = (c^\oplus)^2 c$.

Since $a^\oplus = a^\# aa^{(1,3)}$ by Lemma 2.1, thus $1 - a^\oplus a = 1 - a^\# aa^{(1,3)} a = 1 - a^\# a$, similarly $1 - c^\oplus c = 1 - c^\# c$.

Since $(1 - aa^\oplus)b = 0$ implies $(1 - a^\oplus a)b = 0$. (Indeed, $a^\oplus ab = a^\oplus a(aa^\oplus b) = aa^\oplus b$), thus

$$(1 - aa^\#)b(1 - c^\# c) = 0. \quad (10)$$

By Lemma 2.2 and (10), we have

$$M^\# = \begin{bmatrix} a^\# & (a^\#)^2 b(1 - c^\# c) + (1 - aa^\#)b(c^\#)^2 - a^\# bc^\# \\ 0 & c^\# \end{bmatrix} \quad (11)$$

Since $M^\oplus = M^\# MM^{(1,3)}$ by Lemma 2.1. As we have (9) and (11), thus

$$\begin{aligned} M^\oplus &= M^\# MM^{(1,3)} = M^\# MX \\ &= \begin{bmatrix} a^\# & (a^\#)^2 b(1 - c^\# c) + (1 - aa^\#)b(c^\#)^2 - a^\# bc^\# \\ 0 & c^\# \end{bmatrix} \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix} \\ &= \begin{bmatrix} a^\# & (a^\#)^2 b(1 - c^\# c) + (1 - aa^\#)b(c^\#)^2 - a^\# bc^\# \\ 0 & c^\# \end{bmatrix} \begin{bmatrix} aa^\oplus & 0 \\ 0 & cc^\oplus \end{bmatrix} \\ &= \begin{bmatrix} (a^\oplus)^2 a & \beta \\ 0 & (c^\oplus)^2 c \end{bmatrix} \begin{bmatrix} aa^\oplus & 0 \\ 0 & cc^\oplus \end{bmatrix} \end{aligned}$$

$$\begin{aligned}
&= \begin{bmatrix} (a^\oplus)^2 a^2 a^\oplus & \beta c c^\oplus \\ 0 & (c^\oplus)^2 c^2 c^\oplus \end{bmatrix} \\
&= \begin{bmatrix} a^\oplus a a^\oplus & -(a^\oplus)^2 a b (c^\oplus)^2 c^2 c^\oplus \\ 0 & c^\oplus c c^\oplus \end{bmatrix} \\
&= \begin{bmatrix} a^\oplus & -a^\oplus b c^\oplus \\ 0 & c^\oplus \end{bmatrix}.
\end{aligned}$$

where $\beta = ((a^\oplus)^2 a)^2 b (1 - (c^\oplus)^2 c c) + (1 - a(a^\oplus)^2 a) b ((c^\oplus)^2 c)^2 - (a^\oplus)^2 a b (c^\oplus)^2 c$.

(2) $\Leftrightarrow$ (3) $\Leftrightarrow$ (4) is clear by Lemma 2.4. □

Lemma 2.6 — Let $a, b \in R$ with $ab = 1$. Then $a \in R^\oplus$ if and only if $a \in R^{-1}$.

PROOF : Suppose $ab = 1$ and $a \in R^\oplus$. Then

$$1 = ab = a^\oplus a^2 b = a(a^\oplus)^2 a^2 b = a(a^\oplus)^2 a(ab) = a(a^\oplus)^2 a = a^\oplus a.$$

That is $1 = a^\oplus a$ and by the hypothetical condition $ab = 1$, thus $a \in R^{-1}$.

Conversely, if $a \in R^{-1}$, it is clear that $a \in R^\oplus$ by $a^\oplus = a^{-1}$. □

Lemma 2.7 — Let $a, b \in R$ with $ba = 1$. Then $a \in R^\oplus$ if and only if $a \in R^{-1}$.

Example 2.8 : The condition $M^\oplus \in UT_{2 \times 2}$ in Theorem 2.5 cannot be dropped. Let R be ring such that $ab \neq 1$ and $ba = 1$, for all choices $a, b \in R$. We will present an example using matrices over a ring R with the involution as conjugate transposition. Consider the matrix $M = \begin{bmatrix} a & 1 - ab \\ 0 & b \end{bmatrix}$,

let $X = \begin{bmatrix} b & 0 \\ 1 - ab & a \end{bmatrix}$, then we have $MX = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = XM$. That is M is invertible. Thus we have $M^\oplus = X$, but $X \notin UT_{2 \times 2}$. Since $ab \neq 1$ and $ba = 1$, thus by the Lemma 2.7, we have $a \notin R^\oplus$.

Let us denote the ring of lower triangular 2×2 matrices over a ring R by $LT_{2 \times 2}$.

Theorem 2.9 — Let $a, b, c \in R$ and $M = \begin{bmatrix} a & 0 \\ b & c \end{bmatrix} \in R_{2 \times 2}$. Then the following conditions are equivalent:

- (1) $M^\oplus$ exists with $M^\oplus \in LT_{2 \times 2}$;
- (2) $a, c \in R^\oplus$ and $(1 - c c^\oplus)b = 0$;
- (3) $a, c \in R^\oplus$ and $(1 - c^\oplus c)b = 0$;

(4) $a, c \in R^\oplus$ and $bR \subseteq cR$.

In this case, $M^\oplus = \begin{bmatrix} a^\oplus & 0 \\ -c^\oplus ba^\oplus & c^\oplus \end{bmatrix}$.

Example 2.10 : The condition $M^\oplus \in LT_{2 \times 2}$ in Theorem 2.9 cannot be dropped. Let R be ring such that $ba \neq 1$ and $ab = 1$, for all choices $a, b \in R$. We will present an example using matrices over a ring R with the involution as conjugate transposition. Consider the matrix $M = \begin{bmatrix} a & 0 \\ 1 & b \end{bmatrix}$, let $X = \begin{bmatrix} b & 1 - ba \\ -1 & a \end{bmatrix}$, then we have $MX = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = XM$. That is M is invertible. Thus we have $M^\oplus = X$, but $X \notin LT_{2 \times 2}$. Since $ba \neq 1$ and $ab = 1$, thus by the Lemma 2.6, we have $a \notin R^\oplus$.

Remark 2.11 : In Theorem 2.5 and Theorem 2.9, one may obviously replace a, b and c by conformable matrices over R , since all equations used in the proof are remain valid. One also can obtain analogical results for dual core inverse as the Theorem 2.5 and Theorem 2.9.

3. THE (2,2,0) CORE INVERSE PROBLEM

In this section, some equivalent characterizations of (2,2,0) core inverse problem in rings are obtained. Let us start this section with some auxiliary lemmas.

Lemma 3.1 — [4, Corollary 1]. If $a, p \in R$ such that $a^- \in a\{1\}$ and p is right invertible. Then the following are equivalent:

- (1) $ap \in R^\#$;
- (2) $u = apaa^- + 1 - aa^-$ is invertible;
- (3) $u' = pa + 1 - a^-a$ is invertible.

In this case, $a^\# = u^{-2}ap$.

Lemma 3.2 — If $a, p \in R$ such that $a^{(1,3)} \in a\{1, 3\}$ and $pp^* = 1$. Then ap is $\{1, 3\}$ -invertible and $p^*a^{(1,3)} \in (ap)\{1, 3\}$.

PROOF : By $pp^* = 1$, we have

$$app^*a^{(1,3)} = aa^{(1,3)}$$

and

$$app^*a^{(1,3)}ap = aa^{(1,3)}ap = ap,$$

thus ap is $\{1, 3\}$ -invertible and $p^*a^{(1,3)} \in (ap)\{1, 3\}$. $\square$

Proposition 3.3 — Let $a \in R^\oplus$ and $p \in R$. If $pp^* = 1$ and $a^- \in a\{1\}$, then the following are equivalent:

- (1) $ap \in R^\oplus$;
- (2) $u = apaa^- + 1 - aa^-$ is invertible;
- (3) $u' = pa + 1 - a^-a$ is invertible.

In this case, $(ap)^\oplus = u^{-2}apaa^\oplus$.

PROOF : (1) $\Rightarrow$ (2). Suppose $ap \in R^\oplus$, then by [5, Theorem 2.19] we have $ap \in R^\#$. Since $pp^* = 1$ gives p is right invertible, thus $u = apaa^- + 1 - aa^-$ is invertible by Lemma 3.1.

(2) $\Rightarrow$ (1). As p is right invertible and $u = apaa^- + 1 - aa^-$ is invertible, then by Lemma 3.2 we have $ap \in R^\#$ and

$$(ap)^\# = u^{-2}ap \quad (12)$$

By Lemma 2.1, we have $a^\oplus \in a\{1, 3\}$. By $pp^* = 1$ and Lemma 3.2, we have $ap \in R^{\{1,3\}}$ and

$$p^*a^\oplus \in ap\{1, 3\} \quad (13)$$

By (12), (13) and Lemma 2.1, we have

$$(ap)^\oplus = (ap)^\# ap(ap)^{(1,3)} = u^{-2}apapp^*a^\oplus = u^{-2}apaa^\oplus.$$

The proof of (2) $\Leftrightarrow$ (3) is similar to (1) $\Leftrightarrow$ (2). $\square$

Let $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix}$, $P = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$, then

$$PP^* = P^*P = I \quad (14)$$

and $MP = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} = \begin{bmatrix} b & a \\ c & 0 \end{bmatrix}$. Let us denote $A = \begin{bmatrix} b & a \\ c & 0 \end{bmatrix}$, then

$$A = MP. \quad (15)$$

Proposition 3.4 — Let $a, b, c \in R$ and $A = \begin{bmatrix} b & a \\ c & 0 \end{bmatrix}$ with $a, c \in R^\oplus$ and $bR \subseteq aR$. Then the following are equivalent:

- (1) A is core invertible;
- (2) $U = AMM^- + I - MM^-$ is invertible;
- (3) $U' = PM + I - M^-M$ is invertible.

Where $M = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix}$ and $M^- \in M\{1\}$. In this case

$$A^\oplus = U^{-2} \begin{bmatrix} baa^\oplus & acc^\oplus \\ caa^\oplus & 0 \end{bmatrix}$$

PROOF : (1) $\Rightarrow$ (2). Suppose A is core invertible, then by (15) and [5, Theorem 2.19], we have that MP is group invertible, thus U is invertible by [4, Corollary 1].

(2) $\Rightarrow$ (1). Suppose $a, c \in R^\oplus$ and $bR \subseteq aR$, then by Theorem 2.5, we have M is core invertible. Since $PP^* = I$, thus MP is core invertible by Proposition 3.3, that is A is core invertible by (15) and

$$\begin{aligned}
 A^\oplus &= U^{-2}MPMM^\oplus \\
 &= U^{-2}AMM^\oplus \\
 &= U^{-2} \begin{bmatrix} b & a \\ c & 0 \end{bmatrix} \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \begin{bmatrix} a^\oplus & -a^\oplus bc^\oplus \\ 0 & c^\oplus \end{bmatrix} \\
 &= U^{-2} \begin{bmatrix} baa^\oplus & -baa^\oplus bc^\oplus + (b^2 + ac)c^\oplus \\ caa^\oplus & -caa^\oplus bc^\oplus + cbc^\oplus \end{bmatrix} \\
 &= U^{-2} \begin{bmatrix} baa^\oplus & -b^2c^\oplus + (b^2 + ac)c^\oplus \\ caa^\oplus & -cbc^\oplus + cbc^\oplus \end{bmatrix} \\
 &= U^{-2} \begin{bmatrix} baa^\oplus & -b^2c^\oplus + b^2c^\oplus + acc^\oplus \\ caa^\oplus & 0 \end{bmatrix} \\
 &= U^{-2} \begin{bmatrix} baa^\oplus & acc^\oplus \\ caa^\oplus & 0 \end{bmatrix}.
 \end{aligned}$$

The equivalence of (2) and (3) is clear by Lemma 3.1. □

ACKNOWLEDGEMENT

The author is grateful to China Scholarship Council for giving him a purse for his further study in Universidad Polit cnica de Valencia, Spain. Research is supported by the Natural Science Foundation

of Jiangsu Education Committee (No. 19KJB110005) and the Natural Science Foundation of Jiangsu Province of China (No. BK20191047).

REFERENCES

1. O. M. Baksalary and G. Trenkler, Core inverse of matrices, *Linear Multilinear Algebra*, **58**(6) (2010), 681-697.
2. R. E. Hartwig and K. Spindelböck, Matrices for which A^* and $A^\dagger$ commute, *Linear Multilinear Algebra*, **14** (1984), 241-256.
3. R. E. Hartwig and J. Shoaf, Group inverses and Drazin inverses of bidiagonal and triangular toeplitz matrices, *J. Austral. Math. Soc.*, **24** (1977), 10-34.
4. P. Puystjens and R. E. Hartwig, The group inverse of a companion matrix, *Linear Multilinear Algebra*, **43** (1997), 137-150.
5. D. S. Rakić, Nebojša Č. Dinčić, and D. S. Djordjević, Group, Moore-Penrose, core and dual core inverse in rings with involution, *Linear Algebra Appl.*, **463** (2014), 115-133.
6. H. X. Wang, Core-EP decomposition and its applications, *Linear Algebra Appl.*, **508** (2016), 289-300.
7. H. X. Wang and X. J. Liu, Characterizations of the core inverse and the partial ordering, *Linear Multilinear Algebra*, **63**(9) (2015), 1829-1836.
8. S. Z. Xu, J. L. Chen, and X. X. Zhang, New characterizations for core and dual core inverses in rings with involution, *Front. Math. China*, **12**(1) (2017), 231-246.